





TABLE I
REV. 09/2011 OF CONTENTS

1 GENERAL VIEW
FRAME
CASTERS
RIGGINGS AND FOOTPLATES
REAR WHEEL HARDWARE
WHEEL LOCKS
BACK SUPPORT
. ARMRESTS

9 ANTI-TIPS

10 SEAT PAN

11 UPHOLSTERY

o u B~ W N

YBwww.futuremobility.com







REV. 09/2011

(s 2

ITEM
Ty DESCRIPTION

1 | FRAME

2 | CASTERS

3 | SWINGAWAYS

4 | FOOTPLATE ASSEMBLY RIGHT

5 | FOOTPLATE ASSEMBLY LEFT

6 | REAR WHEEL

7 | WHEEL LOCK LEFT

8 | WHEEL LOCK RIGHT

9 | BACK SUPPORT

10 | ARMREST RIGHT

11 | ARMREST LEFT

12 | ANTI-TIPPERS

13 | SEAT

14 | PAN

15 | PAN RECEIVER

16 | UPHOLSTERY

TABLE

OF CONTENTS

SELF PROPELLED CHAIR
ASSEMBLY

"

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236

11




GENERAL VIEW

REV. 09/2011

ATTENDANT PROPELLED
CHAIR ASSEMBLY

ITEM
NO. DESCRIPTION
1 FRAME
2 CASTERS
3 SWING AWAY AND FOOTPLATE
ASSEMBLY LEFT
4 SWING AWAY AND FOOTPLATE
ASSEMBLY RIGHT
5 BACK SUPPORT
6 ARMREST LEFT
7 ARMREST RIGHT
8 SEAT
9 PAN
10 PAN RECEIVER
11 UPHOLSTERY

YBwww. futuremobility.com

1-855-938-8873 7 716-783-9236




REV. 09/2011 FRAME
FRAME
@,
ITEM | PART RETAIL | DEALER
NO. NO. DESCRIFTION PRICE | PRICE
SEE
1 BElOw | FRAME WELDMENT REF
1000392 | .,
2 HWO1 | 17 ROUND UNIVERSAL END PLUG 1.50
FRAME
WELDMENT
PART SEAT | RETAIL | DEALER
NO. DESCRIPTION WIDTH | PRICE | PRICE
1013565 | COMMODE FRAME WELDMENT 17 17"
1013426 | COMMODE FRAME WELDMENT 20 20"
1013566 | COMMODE FRAME WELDMENT 22 22"

“Bwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 2-1







REV. 09/2011 CASTERS
N 5" TOTAL LOCK HEIGHT
ADJUSTABLE PROPYLENE
CASTERS
-
ITEM PART RETAIL | DEALER
NO. NO. DESCRIPTION PRICE PRICE
1 1009139 | 5" TOTAL LOCK POLYPROPYLENE CASTER

“ 2 1009125 | SNAP CLIP

SEAT TO FLOOR HEIGHT
CASTER STEM
STF HOLE
16" D
17" C
18" B
19” A
ITEM | PART RETAIL | DEALER
NO. | NO. DESCRIPTION PRICE | PRICE
1 1009178 | 5” X 2" POLYPROPYLENE CASTER

2 1014293 | COMMODE CASTER STEM

1-2 1009139 | 5" TOTAL LOCK COMMODE CASTER

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 3-1







RIGGINGS AND I
REV. 09/2011 FOOTPLATES

SWINGAWAY WITH
COMPOSITE FLIP-UP
FOOTPLATE
ITEM | pART NO. DESCRIPTION
NO.
1 | SEEBELOW | SWINGAWAY
2 10014122 FOOTPLATE ASSEMBLY RIGHT
3 | 10014123 | FOOTPLATE ASSEMBLY LEFT
Bwww.futuremobility.com ' 1-855-038-8873 7 716-783-9236




RIGGINGS AND

FOOTPLATES REV. 05/2011
2 SWINGAWAY
ITEM PART RETAIL DEALER
NO S NO. BISSEALOL PRICE PRICE
COMMODE
FOOTREST HANGER
1009126 | \yg) pMENT
70 DEGREES
1
COMMODE
FOOTREST HANGER
1008115 | g pMENT
50 DEGREES
\ FOOTREST BRACE
& 2 1009130 | appLE
) GLIDE BUSHING
~ 8 1001222 | 4 87570 0.75 SIMPLE
SCREW, #6 X %",
4 1009141 | SeiF TAPPING
SWINGAWAY
14 1014120 | 74 pEGREES
- SWINGAWAY
1014121 | 55 peGREES

YBwww.futuremobility.com

1-855-938-8873 7 716-783-9236




RIGGINGS AND I
REV. 09/2011 FOOTPLATES

().
COMPOSITE FLIP-UP
FOOTPLATE
ITEM PART RETAIL | DEALER
no | Y | o DESCRIFTION PRICE | PRICE

V 2 1 1009132 | LOCKING SLUG

- 3 2 | 1000904 | 3/4" DIATUBE COVED SPACER

COMMODE FOOTREST
/ 1 1 1009131 | S e ciON

PLASTIC

4 1 1001444 | FOOTPLATE, FLIP-UP,
COMPOSITE MEDIUM

' 5 1| 1900018 | 1ype pLUG 3/4” DIAMETER
SCREW, %-20X 1/2", BUTTON
6 1| 1009149 | 4EAD ss
7 1 1000492 SCREW, SOCKET HEAD CAP,

1/4-20X21/2
8 1 1000014 | NUT, HEX, NYLOCK 1/4-20NC

COMPOSITE FLIP-UP
FOOTPLATE, RIGHT

COMPOSITE FLIP-UP
FOOTPLATE, LEFT

10014122
1-8 1

10014123

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 4-3







REAR WHEEL I
REV. 09/2011 HARDWARE

REAR WHEEL FOR SELF
PROPELLED COMMODE ONLY

SEAT TO FLOOR HEIGHT FOR SELF
PROPELLED COMMODE ONLY

STF CASTER STEM REAR WHEEL REAR WHEEL
HOLE POSITION SIZE

16" D E 20"

177 C E 22"

18" B F 20"

18" B E 24"

19" A F 22"

19" A F 24"

YBwww.futuremobility.com

1-855-938-8873 7 716-783-9236




REAR WHEEL
HARDWARE

REV. 09/2011

REAR WHEEL FOR SELF
PROPELLED COMMODE ONLY

ITEM | PART RETAIL | DEALER
NO. NO. DESCRIPTION PRICE | PRICE
2011, 22!1, 24"
1 REF* | REAR WHEEL REF
BOLT, HEX HEAD
2 | 1001043 | - 11620 X 4 1" 5.00
3 1000399 | NUT. HEX 7/16-20 1.50

UNF

*REFER TO REAR WHEELS CATALOG

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




REAR WHEEL I
HARDWARE

REV. 09/2011

REAL WHEEL WITH QUICK AXLE
RELEASE FOR SELF PROPELLED

COMMODE ONLY
RETAIL DEALER
DESCRIPTION PRICE PRICE
20!1' 221!, 24!1
! REF * REAR WHEEL REF
2 7/16-20 QUICK
RELEASE AXLE

*REFER TO REAR WHEELS CATALOG

7/16-20 THREAD

MUSHROOM HEAD QUICK
RELEASE 7/16-20 AXLE

-  ACTIVE AXLE LENGTH ~-- = 0.68

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




REAR WHEEL
HARDWARE

REV. 09/2011

22" WHEEL

REAR WHEEL
ASSEMBLY
3
ITEM RETAIL | DEALER
No. | QTY- | PARTNO. DESCRIPTION PRICE | PRICE
REAR WHEEL - REFER TO REAR
! ! REF~ WHEELS CATALOG REFR
P REAR WHEEL SPACER 625 ODx
Q 1003904 | 1.49 LG. FOR 22" AND 24" 5.00
2 1 WHEEL
REAR WHEEL SPACER 625 ODx
1003903 | 1.446 LG. FOR 20" WHEEL
. PRECISION WHEEL BEARING
-, 3 2 1003784 | 0.437ID X 1.1250D(20,22,24" 10.00
- HUB)
. 1006831 | HUBCAP PUSH ON
HUBCAP TWIST TO LOCK FOR
° 4 1 1006832 | 50" AND 24" WHEEL
‘ 1006833 | HUBCAP TWISTTO LOCK FOR

YBwww. futuremobility.com

' 1-855-938-8873 7 716-783-9236




REAR WHEEL I
REV. 09/2011 HARDWARE

HANDRIM WHEEL

ASSEMBLY
ITEM PART RETAIL | DEALER
NO. I NO. PISEAOL PRICE PRICE
1 1 REF* | HANDRIM WHEEL
F 2 REF | REF* | CONICAL SPACER
3 REF REF* | SCREW
22/24" HANDRIM HARDWARE KIT
2-3 REF* | (8 SCREWS AND 8 SPACERS)
FOR 20", 22"
e rere | HANDRIM HARDWARE KIT
) (6 SCREWS AND 6 SPACERS) FOR 22"

*-REFER TO REAR WHEELS CATALOG

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 5-5







REV. 09/2011 \ WHEEL LOCKS

PUSH TO LOCK WHEEL LOCK
ASSEMBLY FOR SELF
PROPELLED COMMODE ONLY

WHEEL LOCK RIGHT

WHEEL LOCK LEFT

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




WHEEL LOCKS

PUSH TO LOCK WHEEL LOCKWHEEL LOCK
FOR SELF PROPELLED COMMODE ONLY

REV. 09/2011

ITEM PART RETAIL | DEALER
no. | QT no. Clec ey PRICE | PRICE
\’ 1 1 | 1009171 | LOCK SPACER
' SPACER, NYLON 1/4, OD .50, ID
b 2 1] 1005339 | 557 THK 187
_ PUSH TO LOCK HANDLE
' s . 1007262 | \ye| DMENT LEFT
o 1007263 | PUSH TO LOCK HANDLE
3 WELDMENT RIGHT
P~ 4 1 | 1005334 | WHEEL LOCK HOLDING LINK
=
WHEEL LOCK COUNTER LINK,
/ 5 1 1005333 | ooy
1005337 | STAR STYLE BRAKE SHOE LEFT
= 6 1
V 1007232 | STAR STYLE BRAKE SHOE RIGHT
BRAKE EXTENSION WELDMENT,
/ ! 1| 1008622 | Al UMINUM
/ 8 1 | 1008623 | FOAM GRIP, .625 X 3"LG .065 THK
WASHER FLAT 1/4, ID .252, OD
° 4| 1001757 1 500, THK .060
10 4 | 1009180 | NYLOCK THICK 1/4-20 S.S.
1/4-20 X 1-1 /| BETTON SOC HEAD
11 2| 1009181 | ¢ 'S'SeREW
WASHER FLAT 1/4", ID .257, OD
12 6 | 1000027 | 550 THk .032
1420 X 3/ 406 BUTTON
13 2| 1009162 | < 'ScREW
17420 X 16 BUTTON S(
14 1| 1009182 | ginew
14 1009184 | WHEEL LOCK ASSEMBLY LEFT
1009183 | WHEEL LOCK ASSEMBLY RIGHT

YBwww.futuremobility.com

1-855-938-8873 7 716-783-9236




REV. 09/2011 BACK SUPPORT

BACK SUPPORT FOR
CANTILEVER ARM

ITEM PART RETAIL | DEALER
Nno. | Y| No. DteldlAufel PRICE | PRICE
1 1 SEE BACK SUPPORT FOR CANTILEVER
BELOW ARM
2 1 1009147 | CANTILEVER ARM SUPPORT RIGHT
3 1 1009148 | CANTILEVER ARM SUPPORT LEFT

\ 4 2 | 1009157 | RECEIVER - BACKPOST
“ 5 2 | 1009125 | SNAP CLIP

6 4 1009162 | SCREW SOC HD S.S. 2-20 X 3/4

“Bwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 7-1




BACK SUPPORT REV. 09/2011

BACK SUPPORT FOR
CANTILEVER ARM

ITEM PART RETAIL | DEALER
Nno. | Y| No. ~lehiol. PRICE | PRICE
@ 1 2 1000018 | 3 ROUND UNIVERSAL END PLUG
2 2 1001806 | POP-RIVET 3/16 DIA .440 STUB
SPACER, NYLON #10 OD .3751D .194
3 2 1001691 THK 125
SEE
4 1 BELOW BACK SUPPORT WELDMENT
SEE
1-4 1 BELOW BACK SUPPORT ASSEMBLY
SEAT | TEMNO | PART NO. DESCRIPTION RETAIL | DEALER
WIDTH PRICE | PRICE
17" 1-4 1012128 BACK SUPPORT ASSEMBLY
4 1009120 BACK SUPPORT WELDMENT
20" 1-4 1012129 BACK SUPPORT ASSEMBLY
4 1012131 BACK SUPPORT WELDMENT
29" 1-4 1012130 BACK SUPPORT ASSEMBLY
4 1012132 BACK SUPPORT WELDMENT

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




REV. 09/2011 BACK SUPPORT

BACK SUPPORT FOR
FLIP-BACK ARM

ITEM PART RETAIL | DEALER
no. | Y| No. DESCRIPTION PRICE | PRICE
SEE
1 1 BELOW BACK POST FOR FLIP-BACK ARM

\ 2 2 | 1009157 | RECEIVER - BACKPOST
“ 3 2 | 1009125 | SNAP CLIP

4 4 1009162 | SCREW SOC HD S.S. /4-20 X 3/4
DESCRIPTION SEAT RETAIL | DEALER
PART NO WIDTH | PRICE | PRICE
1013571 BACKPOST FOR FLIP-BACK ARM 177
1013430 BACKPOST FOR FLIP-BACK ARM 20"
1013572 BACKPOST FOR FLIP-BACK ARM 22"

“Bwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236







REV. 09/2011

CANTILEVER FIXED HEIGHT

- ARMREST
1 1 SEE BELOW | ARMREST RIGHT
2 1 SEE BELOW | ARMREST LEFT

CANTILEVER
ARMREST RIGHT

!

%

CANTILEVER
ARMREST LEFT

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




CANTILEVER FIXED HEIGHT
ARM SUPPORT

REV. 09/2011

1002672 | GEL ARM PAD - RIGHT

1002673 | GEL ARM PAD - LEFT

1009116 | COMMODE ARM WELDMENT RT

1009115 | COMMODE ARM WELDMENT LEFT

1009134

COMMODE ARM LATCH SPRING
- RIGHT

1009133

COMMODE ARM LATCH SPRING
- LEFT

5 1 1009146 | RUBBER CAP

6 1000392 | 1" ROUND UNIVERSAL END PLUG

% 3 1 1009113 | COMMODE ARM LATCH - RIGHT
1009121 | COMMODE ARM LATCH - LEFT

7 2 1009143

SCREW BUTTON SOC HEAD §.S
10/32 X 1-1/4"

8 1 1009144

SCREW BUTTON SOC HEAD S.S
1/4-20 X 7/8"

9 1 1009145

SPRING PIN S.5. 1/8” DIA X 3/4”
LG.

1000787

ACORN NUT, 1/4-20 STAINLESS
0.510 HIGH

1009147

CANTILEVER FIXED HEIGHT
ARMREST RIGHT

1009148

CANTILEVER FIXED HEIGHT
ARMREST LEFT

YBwww. futuremobility.com

1-855-938-8873 7 716-783-9236




REV. 09/2011

FLIP-BACK FIXED
HEIGHT ARMREST

SEE

1 BELOW FLIP-BACK ARMREST

1001729 | RECEIVER SOCKET RT
2 1 27.00

1001730 | RECEIVER SOCKET LT

1012993 | BRACKET MOUNT RECEIVER RT
3 1

1001300 | BRACKET MOUNT RECEIVER LT
4 1 1012996 | SPACER DISK FLIP-UP ARM
5 1 1001296 | SCREW, SOC HD CAP #10-32 X 1 "4 BL 3.00
6 2 1000403 | SCREW, SOC HD CAP, 10-32NF X 1 1/4 3.00
7 1 1001381 | SCREW, SOC HD CAP, 2-20 X 1 3.00
8 1 1000027 WASHER FLAT ' ,ID 0.257 OD 0.5 THK 1.50

0.032

9 1 1000397 | NUT, NYLOCK THIN 2-20NC, BL 1.50

MOUNTING HARDWARE KIT FOR FLIP-
BACK ARMREST RIGHT

MOUNTING HARDWARE KIT FOR FLIP-
BACK ARMREST LEFT

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




- REV. 09/2011

FLIP-BACK ARMREST
LEFT

FLIP-BACK ARMREST
RIGHT

;| 1013417 | FLIP-BACK ARMREST WELDMENT RT
1013418 | FLIP-BACK ARMREST WELDMENT LT
I
— 2 1 | 1004179 | ARMPAD FULL LENGTH VINYL
° 3 3 | 1000421 | 7/8" ROUND UNIVERSAL END PLUG 1.50
/ 4 1 | 1001724 | BULLET FLIP-BACK ARM 5.00
‘ 5 1 | 1001725 | SPACER BLOCK, RELEASE LEVER 5.00
/ 6 1 | 1001726 | RELEASE LEVER, FLIP-BACK ARM 10.00
7 1| 1001727 | SPRING, COMPRESSION, 0.36 O.D,0.81 LG | 3.00
SCREW, TAPPING PAN HEAD TCS, 1/4-20

8 1| 1003413 | 7R NG 3.00
9 2 | 1003348 | SCREW, SOCKET HD CAP,10-32NF X 11/8 | 3.00

1013414 | FLIP-BACK ARMREST RIGHT
1013415 | FLIP-BACK ARMREST LEFT

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236




REV. 09/2011 ANTI-TIPPERS

ANTI-TIPPERS FOR SELF
PROPELLED COMMODE

ILEOM PART NO. DESCRIPTION
1 1009177 ANTI-TIP
2 1009125 SNAP CLIP

O—

./@

N—©

ITEM PART RETAIL | DEALER
NO. I NO. DESCRIPTION PRICE | PRICE

\/ 1 1 1009140 | COMMODE ANTI TIP TUBE REF
‘ 2 2 1000408 | WHEEL, ANTI TIP 4.17

3 1 1000018 | %" ROUND UNIVERSAL END PLUG 1.50
SCREW, SOCKET HEAD BUTTON, #10-32 X

4 1 1000972 11/2 BLACK 3.00

5 1 1000194 | NUT, HEX-NYLOCK #10-32, BLACK 1.50

1-5 1 1009177 | ANTI-TIP ASSEMBLY

“Bwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 9-1







REV. 09/2011 SEAT PAN

SEAT PAN

ITEM PART RETAIL | DEALER
No. | Y- | No. DESCRIPTION PRICE | PRICE
SEE
1 1 BELOW SEAT ASSEMBLY REF
SEE
2 2 BELOW POTTY RECEIVER REF
3 1 1009179 | COMMODE POTTY 120.00
S — 4 1 1009187 | POTTY STRAP

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236 10-1




SEAT PAN

REV. 09/2011

SEAT ASSEMBLY

1
A/ ‘
) >
& | 5
) N>
6 . 4
€y 0
1
2
6
ITEM PART RETAIL | DEALER
No. | Y| No. SIIELiALoh. PRICE | PRICE
SEE
1 BEly | SEAT WITH UPHOLSTERY REF
({ )) 2 1009174 | SEAT LOCKING CLIP
COMMODE SEAT HOLDING
: 3 1013808 |
5.5 QUICK RELEASE PIN W/O
O‘r_; 4 1016636 | shouLDER
PLASITC LANYARD 6" LG X .260
Q 5 1016655 | oo
SCREW "-20 X %"BUTTUN SOC
6 1009162 | J=RERL S
SEE
1-6 BEloyy | SEAT ASSEMBLY WITH CLIPS
SEAT RETAIL | DEALER
ITEM NO. | PART NO DESCRIPTION WIDTH PRICE | PRICE
1-3 1009123 SEAT ASSEMBLY WITH CLIPS 17"
1 1009160 | SEAT WITH UPHOLSTERY
1-3 1012124 | SEAT ASSEMBLY WITH CLIPS 20"
1 1012126 SEAT WITH UPHOLSTERY
1-3 1012125 | SEAT ASSEMBLY WITH CLIPS oy
1 1012127 | SEAT WITH UPHOLSTERY

YBwww.futuremobility.com

' 1-855-938-8873 7 716-783-9236




SEAT PAN

REV. 09/2011

COMMODE POTTY

ITEM PART NO. DESCRIPTION

NO.
1 1009168 POTTY
2 1009169 LID
COMMODE
1-2 1009179 POTTY

POTTY RECEIVER

SEAT RETAIL | DEALER
PART NO DESCRIPTION WIDTH PRICE PRICE
1012135 POTTY RECEIVER - 17" 17"
1009165 POTTY RECEIVER - 20" 20"
1012136 POTTY RECEIVER - 22" 22"

10-3

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236







UPHOLSTERY

REV. 09/2011

BACK UPHOLSTERY

P

SEAT DESCRIPTION RETAIL DEALER
WIDTH Ul PRICE PRICE
17" 1009172 COMMODE BACK UPHOLSTERY 17"
20" 1012133 COMMODE BACK UPHOLSTERY 20"
22" 1012134 COMMODE BACK UPHOLSTERY 22"

YBwww.futuremobility.com ' 1-855-938-8873 7 716-783-9236







TABLE OF I
REV. 09/2011 CONTENTS

1 GENERAL VIEW
FRAME
CASTERS
RIGGINGS AND FOOTPLATES
REAR WHEEL HARDWARE
WHEEL LOCKS
BACK SUPPORT
. ARMRESTS

9 ANTI-TIPS

10 SEAT PAN

11 UPHOLSTERY

o u B~ W N

www.futuremobility.com | ' 905-671-1661,1-888-737-4011 7 905-671-3377,1-866-670-3377 -




